50 Questions

Que. 1 A School Headmaster has the responsibility to
1. help the school in its development
2. observe the classroom teaching and suggest improvement if required
3. develop the teaching learning material
4. all of these
Correct Option - 4

Que.2 RTE Act was implemented in India with effect from
1. Ist April, 2010
2. st April, 2019
3. Ist April, 2009
4. 1st April, 2008
Correct Option - 1

Que.3 IfA=1,BAR=21and STAR = 58, then ABROAD =?

1. 32
2. 41
3. 33
4. 42

Correct Option - 2

Que. 4 If °x’ stands for ‘+°, *+” for *-°, *-* for ‘x” and ‘+’ for ‘+’, then the value of the following equation

54+16-3x6+2="2is-

1. 12
2. 8
3. 15
4. 9

Correct Option - 4

Que. 5 The ultimate goal of education in Jainism is
1. Charity
2.  Pity and renunciation
3. Liberation
4. Non-violence
Correct Option - 3

Que. 6 First open University in India was established in the year

1. 1966
2. 1985
3. 1986
4. 1982
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Correct Option - 4

Que. 7 Ina certain code ‘BREAKDOWN?’ is written as ‘BFSCIMVNC’. How is ‘ORGANISED’ written in
that code?

1. PSHBMCDRH
2. BHSPMCDRH
3. BHSPOCDRH
4. None of these
Correct Option - 2

Que. 8 A and B are brothers. C is father of A. D is father of C. E is son of B.
How is D related to E?
1. Grandson
2. Great grandson
3. Great grandfather
4. Grandfather
Correct Option - 3

Que. 9 In the following, select the missing letter from the given series:

R[x][?
D[V[L
N|[B[F

. Q

2. S

3. R

4, T

Correct Option - 3

Que. 10 If33% of A is equal to 55% of B, then the ratio of A and B is -

1. 4:5
2. 5:4
3. 3:5
4. 5:3

Correct Option - 4

Que. 11  The policy recommended by the Kothari Commission relating language is
1. Standard language formula
2. Two-language formula
3. Three-language formula
4. Re-interpretation of national language and official language

Correct Option - 3

Que. 12 A 220-metre long train is running at a speed of 54 kilometres per hour. In what time will it pass a
man who is moving in the opposite direction of the train at a speed of 12 kilometres per hour ?
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1. 6sec
2. 8sec
3. 10sec
4. 12 sec

Correct Option - 4

Que. 13 Under Constructivist Approach to language learning, learners are encouraged to
1. discover the rules of grammar from the examples
2. avoid errors completely
3. learn the grammar rules by rote
4.  write creatively

Correct Option - 1

Que. 14 4.9 can be expressed in terms of percentage as

1. 4.9%
2. 490%

3. 0.049%
4. 0.49%

Correct Option - 2

Que. 15 Ifajob is to be completed in 10 days, it requires 270 persons. If 180 persons take up the same job,
they will finish it in

1. 20 days

2. 18 days

3. 15 days

4. None of these
Correct Option - 3

Que. 16 Continuous and Comprehensive Evaluation in school education was started by
1. IGNOU

2. CBSE
3. MHRD, Govt. of India
4. NCERT

Correct Option - 2

Que. 17 Which statement is not correct in the context of language teaching?
1. Print riched environment helps in acquiring language
2. Inlanguage teaching, there is more emphasis on correctness of spelling
3. There is a difference between language acquisition and learning
4. Teaching of other subjects is helpful in language learning

Correct Option - 2

Que. 18 The sum of all those prime numbers which are less than 31 is
1. 129
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2. 139

3. 132

4. 137
Correct Option - 1

Que. 19 In a certain code, ‘COMPUTER’ is written as ‘LNBVQSFU’. How is ‘BULKHEAD’ written in
that code?

1. MVCILEBF

2.  KTAILEBF

3. MTAGIEBF

4. None of these
Correct Option - 2

Que. 20 If x stands for + and + for -, find the value of the following equation:
39-23+21x5=7?

1. 46
2. 36
3. 62
4. 0

Correct Option - 4

Que. 21 Teacher Eligibility Test conducted for selection of candidates for admission into teacher education
institution is an example of

1. Achievement test

2. Placement test

3. Attitude test

4. Aptitude test
Correct Option - 4

Que. 22 IfZ=26,NET =39, then NUT =?

1. 50
2. 53
3. 55
4. 56

Correct Option - 3

Que. 23 A is brother of D. D is father of B. B and C are sisters. How is A related to C?

1. Son

2. Father

3. Grandson
4. Uncle

Correct Option - 4

Que. 24 . Find the related word from the given alternatives:
Lion: Den :: Rabbit:?
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1. Pit

2. Hole

3.  Burrow
4. Trench

Correct Option - 3

Que. 25 Which of the following Articles of the Constitution of India lays down that education of children
aged 6 — 14 years is a Fundamental Right?

1. Article 45

2. Article 42

3. Article 21(A)

4. Article 51(B)
Correct Option - 3

Que. 26 Which is the least important factor in teaching?
1. Giving homework to children
2. Punishing the students
3. Teaching as a facilitator
4. Lecturing in impressive way

Correct Option - 2

Que. 27 In the following question, select the mission number from the given series:
19, 23, 26, 30, 33, ?

1. 31
2. 35
3. 37
4. 39

Correct Option - 3

Que. 28 If two days before yesterday was Friday, what day will be day after tomorrow?
1. Monday
2. Sunday
3. Saturday
4.  Wednesday
Correct Option - 4

Que. 29  Which school of Philosophy in education will plead affinity with the Darwinian theory of
evolution?

1. Pragmatism

2. Idealism

3. Naturalism

4. None of these
Correct Option - 3

Que. 30
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walks 2 km, turns right again and walks. What is the direction is he facing now?

1.
2.
3.
4.

Correct Option - 1

Que. 31 What should come next in the following number series?

876543217654321654321

1.
2.
3.
4.

Correct Option - 1

Que. 32 Find the missing number from the given series:

4.
Correct Option - 1

Que. 33
1. No profit no loss
2. 1% loss
3. 1% profit
4. 4% Loss

Correct Option - 4

Que. 34 The sum of a positive integer and its square is 2450. The positive integer is
1.

2.
3.
4.
Correct Option - 2

1.
2.
3

A man ‘A’ starts from a certain point and walks 2 km towards north, turns towards his right and

South
South-east
North
West

5
6
4

None of these

54
45
49
53

49
51
53

518132
916148
71917

A man sells two pipes at Rs. 12 each. He gains 20% on one and loses 20% on the other. In the

whole transaction, there is

48

Que. 35 When a number is divided by 15, 20, or 35, each time the remainder is 8. Then the smallest number

1S
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1. 427
2. 428
3. 443
4. 463

Correct Option - 2

Que. 36 80 liters of a mixture contains milk and water in the ratio of 27:5. How much more water is to be
added to get a mixture containing milk and water in the ratio of 3:1?

1. 10 liters

2. 15 liters

3. 20 liters

4. None of these
Correct Option - 1

Que. 37 A man sold 20 apples for Rs. 100 and gained 20%. How many apples did he buy for Rs. 100?
1. 22

2. 25
3. 24
4. 26

Correct Option - 3

Que. 38  Which of the following philosophies claimed that Vasna and Trishna lie at the root of human

suffering?
1. Vedanta
2. Jainism
3.  Buddhism
4. Samkhya

Correct Option - 3

Que. 39  Who among the following is an existentialist thinker?

1. Kilpatrick
2. Rousseau

3. Sartre

4. Froebel

Correct Option - 3

Que. 40 According to the behaviorist school of psychology, the teacher is
1. a classroom facilitator
2. storehouse of knowledge
3. aleader in the classroom
4.  creator of favourable learning conditions

Correct Option - 4

Que. 41 Ivan Illich is popular for
1. De-schooling Society
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2. Ex-Post facto research
3. Field Experiment
4. Distance Education

Correct Option - 1

Que. 42 In the context of social development which of the following stages is characterized by ‘Intense Self
Awareness’?

1. Childhood

2. Infancy

3. Adolescence

4. None of these
Correct Option - 3

Que. 43 (p 15t anuary 2013 was Wednesday, then what day of the week was it on ond g anuary 2014?

1. Wednesday
2.  Thursday
3. Tuesday

4. Friday

Correct Option - 4

Que. 44 A is older than B but younger than C. D is younger than E but older than A. If C is younger than D,
who is the oldest of all?

1.
2.
3.

Mo a >

4.
Correct Option - 4

Que. 45 What should come next in the following number sequence?
2 23 234 2345 23456 23456
. 2
2. 7
3. 3
4. None of these
Correct Option - 2

Que. 46 Which of the following functions is not related to school as an agency of education?
1. Preserving knowledge, values, customs etc.
2. Giving definite solutions to the religious problems
3. Suggesting ways and means to social development
4. Socializing children for performing their future role

Correct Option - 2

Que. 47 Find the related word from the given alternatives:
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January: November :: Sunday:?

1. Tuesday
2. Monday
3. Friday
4. Saturday

Correct Option - 3

Que. 48 In the following question, select the missing number from the given series:

13,27, 56, 115, ?

1. 234
2. 238
3. 233
4. 243

Correct Option - 1

Que. 49 Psychology’s major contribution to education lies in
1. to cater to the needs of knowledge society
2. to preserve the social customs
3. identifying successful methods for teaching
4. providing scientific foundation for the art of teaching

Correct Option - 3

Que. 50 A child who uses a wheelchair
1. should not be in the regular school
2. should be given education in a regular school in a lower class
3. should study only in a special school
4. none of these
Correct Option - 4
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